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QUESTION 1

You update the name of a member that Is used In a number of allocation rules. 

After deploying the changes to the database, what step can you take next to update your rules? 

A. The system automatically propagates the name change to your allocation rules; no additional step is necessary. 

B. Use the Find and Replace tool In the Manage Rules screen to replace the member In all rules that use It. 

C. On the Mass Edit tab of the Designer screen, create and run a job to replace the member in all rules that use it. 

D. Use the ReplaceMember command In EPM Automate to replace the member In all rules that use It. 

Correct Answer: D 

 

 

QUESTION 2

Which Is NOT Included In the Profitability and Cost Management analytics tools? 

A. Trace Allocations 

B. Analysis Views 

C. Key Performance Indicators (KPIs) 

D. Sculler Analysis Graph 

E. Rule Update Analysis 

Correct Answer: D 

 

QUESTION 3

For which two of these purposes can you use model views? 

A. To create analysis views for specific slices of data 

B. To assign data grants to specific slices of data 

C. To filter the results when tracing allocations or performing rule balancing 

D. When mass editing rules, to limit the edits to a subset of the data 

E. When copying POVs, to limit the copy to a subset of the data 

Correct Answer: AE 
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QUESTION 4

Assume the computer hardware supports parallel calculation. Given these two rule sets, in what order will the rules be
calculated? 

A. Rule 1, Rule A, and Rule 5 will run In parallel; then Rule 2, Rule, 3, and Rule 6 will run in parallel (two separate
calculation steps). 

B. Rule 1; then Rule 2 and Rule 3 will run in parallel; then Rule 4 and Rule 5 will run in parallel; then Rule 6 (four
separate calculation steps). 

C. Rule 1, Rule A, and Rule 5 will run in parallel while Rule 2, Rule 3, and Rule 6 also run in parallel (one calculation
step). 

D. Rule 1; then Rule 4 and Rule 5 will run in parallel; then Rule 2 and Rule 3 will run in parallel; then Rule 6 (four
separate calculation steps). 

Correct Answer: B 

 

 

QUESTION 5

Which three components are required to create a valid rule set? 

A. Using Global Context defined in POV 

B. Rule Set execution method 

C. Rule Set Name 

D. Sequence 

E. Defined rule set context 

Correct Answer: BCD 
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